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O~ VH$ AmnH$mo `h àíZ-nwpñVH$m ImobZo H$mo Z H$hm Om` V~ VH$ Z Imobo§ &

àíZ nwpñVH$m
{df` H$moS>	 :	 90

{df`	 :	 CÚm{ZH$s

AZwH«$_m§H$ (A§H$mo§ _|) : 

AZwH«$_m§H$ (eãXm| _|) : ____________________________________________________

Aä`Wr© Ho$ hñVmja

     
H$j {ZarjH$ Ho$ hñVmja

g_` : 2 KÊQ>o	 nyUmªH$ : 200

narjm{W©`m| Ho$ {bE {ZX}e
	 1.	 Bg àíZ-nwpñVH$m _| Xmo ^mJ h¡§ & {OgHo$ àW_ ^mJ _| gm_mÝ` kmZ go gå~pÝYV Hw$b 30 àíZ h¢ & 
	 2.	 Bg àíZ-nwpñVH$m Ho$ {ÛVr` ^mJ _| d¡H$pënH$ {df` go gå~pÝYV Hw$b 70 àíZ h¢ &
	 3.	 Bg àíZ-nwpñVH$m _| 100 àíZm§e (àíZ) {XE JE h¢ & àË òH$ àíZm§e {hÝXr Am¡a A§J«oOr XmoZm| _| N>nm h¡ & àË òH$ àíZm§e Ho$ {bE Mma {dH$ën 

{XE JE h¢ & BZ_| go EH$ {dH$ën H$mo MwZ b|, {Ogo Amn CÎma nÌH$ na A§{H$V H$aZm MmhVo h¢ & `{X AmnH$mo Eogm bJo§ {H$ EH$ go A{YH$ 
{dH$ën ghr h¡§, Vmo Cg {dH$ën H$mo A§{H$V H$a| Omo AmnH$mo gdm}Îm_ bJo§ & àË òH$ àíZm§e Ho$ {bE Ho$db EH$ hr {dH$ën MwZZm h¡ &

	 4.	 narjm àmaå^ hmoZo Ho$ VwaÝV ~mX, Amn Bg àíZ-nw{ñVH$m H$s Om±M Adí` H$a b| {H$ Bg_| H$moB© {~Zm N>nm, H$Q>m `m Ny>Q>m hþAm n¥ï> AWdm àíZm§e 
Am{X Z hmo &

	 5.	 Aä`Wu H$j {ZarjH$ Ûmam {ZX}e XoZo Ho$ CnamÝV hr àíZ-nwpñVH$m H$s grb Imob| &
	 6.	 Aä`Wu CÎma nÌH$ (Amo. E_. Ama. erQ>) na CÎma XoZo go nhbo àíZ-nwpñVH$m Ed§ CÎma nÌH$ Ho$ g^r AZwXoem| H$mo gmdYmZrnyd©H$ n‹T> b| &
	 7.	 CÎma nÌH$ (Amo. E_. Ama. erQ>) na Aä`Wu AnZm AZwH«$_m§H$, {df`, àíZ-nÌ H$m ghr H$moS>, CÎm[aV àíZm| H$s g§»`m VWm AZwÎm[aV 

àíZm| H$s g§»`m ñdÀN>Vmnyd©H$ {bI| AÝ`Wm CÎma nÌH$ H$m _yë`m§H$Z Zht {H$`m Om`oJm Am¡a gånyU© {Oå_oXmar ñd`§ Aä`Wu H$s hmoJr & 
	 8.	 Aä`Wu ghr CÎma {Z{X©îQ> H$aVo hþE CZ_| go Ho$db EH$ Jmobo AWdm ~~b H$mo CÎma nÌH$ na H$mboo ~m°b ßdmB§Q> noZ go nyam Jham H$a X| & 

EH$ go A{YH$ CÎma XoZo H$s Xem _| CÎma H$mo JbV _mZm Om`oJm Ed§ Cgo Om±Mm Zht Om`oJm &
	 9.	 CÎma nÌH$ (Amo. E_. Ama. erQ>) _| EH$ ~ma Jmobm ^ao OmZo Ho$ ~mX Cg_| {H$gr ^r àH$ma H$m n[adV©Z Zht {H$`m Om`oJm &
	 10.	 Aä`Wu CÎma nÌH$ (Amo. E_. Ama. erQ>) H$mo {H$gr àH$ma Z _mo‹S>| &
	 11.	 AmnH$mo AnZo g^r CÎma Ho$db CÎma nÌH$ (Amo. E_. Ama. erQ>) na hr XoZo h¢ & narjm Ho$ Cnam§V CÎma nÌH$ (Amo. E_. Ama. erQ>) H$j 

{ZarjH$ H$mo bm¡Q>m X| &
	 12.	 `{X {hÝXr `m A§J«oOr {ddaU _| H$moB© {dg§J{V hmo, Vmo A§J«oOr {ddaU ApÝV_ _mZm OmEJm &
	 13.	 `{X H$moB© Aä`Wu AZw{MV gmYZ H$m à`moJ H$aVm h¡ `m CgH$m à`mg H$aVm h¡ AWdm narjm H$j _| {H$gr àH$ma H$m ì`dYmZ H$aVm h¡, 

Vmo dh narjm Ho$ {bE A`mo½` Kmo{fV H$a {X`m Om`oJm &
	 14.	 H$moB© ^r Aä`Wu narjm H$j go ~mha Zht Om`oJm O~ VH$ 120 {_ZQ> (Xmo KÊQ>o) nyao Z hmo J`o hmo &
	 15.	 H$moB© ^r a\$ H$m`©, `{X H$moB© hmo, Bg H$m`© hoVw {ZYm©[aV Imbr nÝZm| na hr {H$`m OmZm Mm{h`o & A{V[aŠV nÝZo Zht {X`o Om`o§Jo &
	 16.	 AnZm AZwH«$_m§H$ Am{X {bIZo Ho$ {bE VWm CÎma nÌH$ (Amo. E_. Ama. erQ>) na CÎmam| H$mo ^aZo Ho$ {bE Ho$db H$mbo ~m°b ßdmB§Q> noZ H$m à`moJ 

H$a| &

O~ VH$ AmnH$mo `h àíZ-nwpñVH$m ImobZo H$mo Z H$hm Om` V~ VH$ Z Imob| &
Note : The English version of the instructions is printed on the last page of this Question Booklet.

 Question Booklet Bar Code Serial No.
àíZ-nw{ñVH$m ~ma H$moS> H«$_ g§»`m
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gm_mÝ` kmZ
General Knowledge

	 1.	 ^wdZoída VWm nwar Ho$ _§{Xa {H$g e¡br _| {Z{_©V h¢ ?
	 (A)	 ZmJa	 (B)	 Ð{d‹S>	 (C)	 doga	 (D)	 CnamoŠV _| go H$moB© Zht
		  In which style are the temples of Bhubaneshwar and Puri built ?
	 (A)	 Nagara	 (B)	 Dravidian	 (C)	 Vesara	 (D)	 None of the above

	 2.	 ZrMo Xmo H$WZ {XE JE h¢, {OZ_| go EH$ H$mo A{^H$WZ (A) VWm Xÿgao H$mo H$maU (R) H$hm J`m h¡ &
		  A{^H$WZ (A) : ½bmo~b B§{S>̀ m E.AmB©. {eIa gå_obZ H$m Am`moOZ hmb hr _| ZB© {Xëbr Ho$ ^maV _§S>n_ _| hþAm &
		  H$maU (R) : {g§Jmnwa, S>oÝ_mH©$ Am¡a g§`wŠV amÁ` A_o[aH$m CÀMV_ ao{Q>§J dmbo E.AmB©. _| go h¡ VWm ^maV H$m àXe©Z 

AnojmH¥$V _O~yV h¡ &
		  ZrMo {XE JE Hy$Q> _| go ghr CÎma Mw{ZE :
		  Hy$Q> :
	 (A)	 (A) Am¡a (R) XmoZm| gË` h¢ Am¡a (R), (A)  H$s ghr ì`m»`m H$aVm h¡ 
	 (B)	 (A) Am¡a (R) XmoZm| gË` h¢, naÝVw (R), (A)  H$s ghr ì`m»`m Zht H$aVm h¡ 
	 (C)	 (A) gË` h¡, naÝVw (R) AgË` h¡ 
	 (D)	 (A) AgË` h¡, naÝVw (R) gË` h¡ 
		  Given below are two statements, one is labelled as Assertion (A) and the other as Reason (R).
		  Assertion (A) : Global India AI summit was recently held at Bharat Mandapam in New Delhi.
		  Reason (R) : Singapore, Denmark and United States of America are among the highest rated AI and 

India’s performance is relatively strong.
		S  elect the correct answer from the code given below :
		  Code :
	 (A)	 Both (A) and (R) are true and (R) is the correct explanation of (A)
	 (B)	 Both (A) and (R) are true, but (R) is not the correct explanation of (A)
	 (C)	 (A) is true, but (R) is false
	 (D)	 (A) is false, but (R) is true

	 3.	 2024 _| E\$.S>r.E. Ûmam AZw_mo{XV H$m¡Z-gr ZB© Xdm, AëµOmB_a amoJ H$s àJ{V H$mo Yr_m H$aZo Ho$ {bE _pñVîH$ _| 
E{_bm°`S> ßb¡H$ H$mo b{jV H$aVr h¡ ?

	 (A)	 ESw>H$mZw_m~	 (B)	 {H$gwZbm	 (C)	 boZmH$mnm{da	 (D)	 boH$å~r
		  Which new drug, approved by the FDA in 2024, targets amyloid plaque in the brain to slow the progression 

of Alzheimer’s disease ?
	 (A)	 Aducanumab	 (B)	 Kisunla	 (C)	 Lenacapavir	 (D)	 Leqambi

	 4.	 {H$g amÁ` gaH$ma Zo Xoer Jm` H$mo ‘amÁ` _mVm-Jmo_mVm ’ H$m XOm© {X`m ?
	 (A)	 CÎma àXoe	 (B)	 N>ÎmrgJ‹T>	 (C)	 _hmamîQ´>	 (D)	 _Ü` àXoe
		  Which state government gave status of ‘Rajya Mata – Gomata’ to indigenous cow ?
	 (A)	 Uttar Pradesh	 (B)	 Chhattisgarh	 (C)	 Maharashtra	 (D)	 Madhya Pradesh

	 5.	 E{e`Z {~{b`S>©²g M¢{n`Z{en 2024 Am`mo{OV H$s JB©
	 (A)	 [a`mX _|	 (B)	 VohamZ _|	 (C)	 _wå~B© _|	 (D)	 T>mH$m _|
		  Asian Billiards championship 2024 was organised in
	 (A)	 Riyadh	 (B)	 Tehran	 (C)	 Mumbai	 (D)	 Dhaka

	 6.	 {ZåZ{b{IV _| go H$m¡Z g~go `wdm {díd eVa§O H$m {dOoVm h¡ ?
	 (A)	 Z¡Ýgr Ë`mJr	 (B)	 _Zw ^mH$a	 (C)	 g§O` _ëhmoÌm	 (D)	 JwHo$e S>moå_mamOy
		  Who among the following is Youngest World Chess Champion ?
	 (A)	 Nancy Tyagi	 (B)	 Manu Bhaker	 (C)	S anjay Malhotra	 (D)	 Gukesh Dommaraju
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	 7.	 {ZåZ{b{IV _| go H$m¡Z-gm emoY _| àmW{_H$ S>oQ>m g§J«h H$s {d{Y Zht h¡ ?
	 (A)	 gmjmËH$ma	 (B)	 gd}jU	 (C)	 gm{hË` g_rjm	 (D)	AdbmoH$Z
		  Which of the following is not a method of primary data collection in research ?
	 (A)	 Interviews	 (B)	S urveys	 (C)	 Literature review	 (D)	 Observations

	 8.	 {ejU _| àm`moOZm {d{Y H$m OÝ_XmVm {H$go _mZm OmVm h¡ ?
	 (A)	 Om°Z S>rdr			   (B)	 {d{b`_ hS>© {H$bn¡{Q´>H$
	 (C)	 àmo. Am_©ñQ´>m±J			   (D)	 gwH$amV
		  Who is considered to be the originator of the project method in teaching ?
	 (A)	 John Dewey			   (B)	 William Heard Kilpatrick
	 (C)	 Prof. Armstrong			   (D)	S ocrates

	 9.	 àmW{_H$ Am±H$‹S>m| Ho$ EH$ÌrH$aU H$s {d{Y`m± h¢
	 a.	 Ho$g AÜ``Z {d{Y
	 b.	 S>mH$ àíZmdbr {d{Y
	 c.	Am°ZbmBZ òmoV
	 d.	AZwgyMr

		  ZrMo {XE JE {dH$ënm| _| go ghr CÎma Mw{ZE :
	 (A)	 Ho$db b, c, d	 (B)	 Ho$db a, b, d	 (C)	 Ho$db a, c, d	 (D)	 Ho$db a, b, c
		  Methods of collection of primary data are 
	 a.	 Case study method
	 b.	 Mail questionnaire method
	 c.	 Online resources
	 d.	S chedule
		  Choose the correct answer from the options given below :
	 (A)	 only b, c, d	 (B)	 only a, b, d	 (C)	 only a, c, d	 (D)	 only a, b, c

	 10.	 {ZåZ{b{IV _| go H$m¡Z-gm {ejU _| àmê$nmË_H$ _yë`m§H$Z H$s {deofVm Zht h¡ ?
	 (A)	 grIZo _| gwYma Ho$ {bE gVV à{V{H«$`m àXmZ H$aZm
	 (B)	 nmR>çH«$_ Ho$ A§V _| Jo«S> àXmZ H$aZo Ho$ {b`o Am`mo{OV {H$`m OmVm h¡ 
	 (C)	 N>mÌm| H$mo CZH$s VmH$V Am¡a H$_Omo[a`m| H$s nhMmZ _| _XX H$aVm h¡
	 (D)	 à{ejH$m| H$mo gwYma H$s Amdí`H$Vm dmbo joÌm| Ho$ ~mao _| gy{MV H$aVm h¡
		  Which of the following is not a characteristic of formative assessment in teaching ?
	 (A)	 Provides ongoing feedback to improve learning
	 (B)	 Conducted at the end of a course to assign grades
	 (C)	 Helps students to identify their strengths and weakness
	 (D)	 Informs instructors about areas needing improvements

	 11.	 {ZåZ{b{IV _| go H$m¡Z-gr emoY H$s {d{Y Zht h¡ ?
	 (A)	 Xme©{ZH$	 (B)	 Eo{Vhm{gH$	 (C)	 gd}jU	 (D)	AdbmoH$Z
		  Which of the following is not a method of research ?
	 (A)	 Philosophical	 (B)	 Historical	 (C)	S urvey	 (D)	 Observation

	 12.	 {ZåZ{b{IV _| go H$m¡Z-gm AempãXH$ gåàofU H$m àH$ma Zht h¢ ?
	 (A)	 dmUr g§Ho$V			   (B)	 {b{IV gåàofU	
	 (C)	 Mjw gånH©$			   (D)	 ñne©Zr` gånH©$
		  Which of the following is not a type of non-verbal communication ?
	 (A)	 Voice signal			   (B)	 Written communication
	 (C)	 Eye contact			   (D)	 Tactile contact
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	 13.	 {ZåZ{b{IV _| go {H$g g§ñWm Zo df© 2005 _| B©-kmZH$moe H$s ewédmV H$s ?
	 (A)	AmB©.AmB©.Q>r. H$mZnwa			   (B)	 B§{Xam Jm±Yr amîQ´>r` _wŠV {díd{dÚmb`
	 (C)	 Bbmhm~mX {díd{dÚmb`			   (D)	 {Xëbr {díd{dÚmb`
		  Which of the following institutions launched e-Gyankosh in the year 2005 ?
	 (A)	 IIT Kanpur			   (B)	 Indira Gandhi national Open University
	 (C)	 Allahabad University			   (D)	 Delhi University

	 14.	 gmd©O{ZH$ dmB©-\$mB© H$m Cn`moJ H$aVo g_`, gwajm ~‹T>mZo Ho$ {bE AZwe§{gV Aä`mg Š`m h¡ ?
	 (A)	 {~Zm {H$gr à{V~§Y Ho$ g§doXZerb ImVm| VH$ nhþM|
	 (B)	AnZo H$ZoŠeZ H$mo EpÝH«$ßQ> H$aZo Ho$ {bE dr.nr.EZ. H$m Cn`moJ H$a|
	 (C)	 g^r gwajm g_m`moOZ Aj_ H$a|
	 (D)	 Xÿgam| Ho$ gmW AnZm H$ZoŠeZ gmPm H$a|
		  When using public Wi-Fi, what is a recommended practice to enhance security ?
	 (A)	 Access sensitive account without any restriction
	 (B)	 Use a VPN to encrypt your connection
	 (C)	 Disable all security settings
	 (D)	S hare your connection with others

	 15.	 ZoQ>d{Hª$J _| ‘dr.nr.EZ.’ H$m Š`m AW© h¡ ?
	 (A)	 dMw©Ab àmBdoQ> ZoQ>dH©$			   (B)	 dMw©Ab npãbH$ ZoQ>dH©$
	 (C)	 do[aE~b àmBdoQ> ZoQ>dH©$			   (D)	 do[a\$mBS> àmBdoQ> ZoQ>dH©$
		  What does ‘VPN’ stand for in networking ?
	 (A)	 Virtual Private Network			   (B)	 Virtual Public Network
	 (C)	 Variable Private Network	 	 	 (D)	 Verified Private Network

	 16.	 ^maV _| dÝ`Ord g§ajU A{Y{Z`_ H$~ nm[aV hþAm ?
	 (A)	 1972 _| 	 (B)	 1968 _| 	 (C)	 1980 _| 	 (D)	 1986 _| 
		  When was the wildlife protection Act passed in India ?
	 (A)	 1972	 (B)	 1968	 (C)	 1980	 (D)	 1986

	 17.	 {ZåZ{b{IV _| go H$m¡Z-gr J¡g J«rZhmD$g à^md Zht S>mbVr h¡ ?
	 (A)	 H$m~©Z S>mB©Am°ŠgmBS>	 (B)	 H$m~©Z _moZmoAm°ŠgmBS>	 (C)	 _rWoZ	 (D)	 ZmBQ´>g Am°ŠgmBS>
		  Which of the following gases does not cause greenhouse effect ?
	 (A)	 Carbon dioxide	 (B)	 Carbon monoxide	 (C)	 Methane	 (D)	 Nitrous oxide

	 18.	 dm`w_§S>b _| J«rZhmD$g J¡gm| H$s ~‹T>Vr àMwaVm Ho$ {ZåZ{b{IV g§^m{dV à^md h¢, Ho$ A{V[aŠV
	 (A)	 CO2 \${Q>©bmBµOoeZ	 (B)	 ½bmo~b dm{_ªJ	 (C)	AmoµOmoZ jaU	 (D)	 O¡d{d{dYVm _| d¥{Õ
		  The increasing abundance of greenhouse gases in the atmosphere has the following possible affects, except
	 (A)	 CO2 fertilization	 (B)	 Global warming	 (C)	 Ozone depletion	 (D)	 Increase in biodiversity

	 19.	 {ZåZ{b{IV _| go H$m¡Z-gm EH$ ^maV H$m H¥${Ì_ ~ÝXaJmh h¡ ?
	 (A)	 H$moMrZ	 (B)	 MoÝZB©	 (C)	 _wå~B©	 (D)	 H$mÊS>bm

		  Which one of the following is an artificial port of India ?
	 (A)	 Cochin	 (B)	 Chennai	 (C)	 Mumbai	 (D)	 Kandla

	 20.	 ^maV Ho$ {H$g amÁ` _| g~go A{YH$ ~m°ŠgmBQ> H$m CËnmXZ hmoVm h¡ ?
	 (A)	 PmaI§S>	 (B)	 H$Zm©Q>H$	 (C)	Amo{‹S>gm	 (D)	 N>ÎmrgJ‹T>
		  Which state of India is the largest producer of Bauxite ?
	 (A)	 Jharkhand	 (B)	 Karnataka	 (C)	 Odisha	 (D)	 Chhattisgarh
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	 21.	 erV F$Vw _| V{_bZmSw> _| hmoZo dmbr dfm© H$m àH$ma Š`m h¡ ?
	 (A)	 nd©Vr`	 (B)	 à{V MH«$dmVr`	 (C)	 g§dhZr`	 (D)	 MH«$dmVr`
		  What is the type of rainfall that occurs in Tamil Nadu during winter season ?
	 (A)	 Mountainous	 (B)	 Anti cyclonic	 (C)	 Convectional	 (D)	 Cyclonic

	 22.	 ‘AmË_r` g^m’ H$s ñWmnZm {H$gZo H$s ?
	 (A)	 ñdm_r {ddoH$mZÝX			   (B)	 amOm am_ _mohZ am`
	 (C)	 ñdm_r X`mZÝX gañdVr			   (D)	 amYm H$mÝV Xod
		  Who founded the  ‘Atmiya Sabha’ ?
	 (A)	S wami Vivekananda			   (B)	 Raja Ram Mohan Roy
	 (C)	S wami Dayananda Saraswati	 (D)	 Radha Kant Dev

	 23.	 {ZåZ{b{IV _| go {H$go 1938 _| gw^mf MÝÐ ~mog Ho$ Ë`mJnÌ XoZo Ho$ níMmV ^maVr` amîQ´>r` H$m±J«og H$m AÜ`j MwZm 
J`m ?

	 (A)	 dëb^^mB© nQ>ob	 (B)	 Odmhabmb Zohê$	 (C)	 EZr ~og|Q>	 (D)	 S>m°. amOoÝÐ àgmX

		  Who among the following was elected as President of the Indian National Congress after Subhash Chandra 
Bose resigned in 1938 ?

	 (A)	 Vallabhbhai Patel	 (B)	 Jawaharlal Nehru	 (C)	 Annie Besant	 (D)	 Dr. Rajendra Prasad

	 24.	 gyMr – I H$mo gyMr – II Ho$ gmW gw_o{bV H$s{OE VWm gy{M`m| Ho$ ZrMo {XE JE Hy$Q> _| go ghr CÎma Mw{ZE :
	 	 gyMr – I	 	 gyMr – II
	 	 (àdV©H$)		  (Am§XmobZ)
	 a.	 ~mb J§JmYa {VbH$	 I.	 {Ibm\$V Am§XmobZ
	 b.	 em¡H$V Abr	 II.	 1857 {dÐmoh
	 c.	 _hmË_m Jm±Yr	 III.	 ñdXoer Am§XmobZ (1905 go 1907)
	 d.	 ~hmXþa emh	 IV.	 Agh`moJ Am§XmobZ

		  Hy$Q> :
	 	 a	 b	 c	 d
	 (A)	 III	 IV	  II	  I
	 (B)	 II	 I	  III	  IV
	 (C)	 III	 I	 IV	  II
	 (D)	 II	 IV	 III	  I
		  Match List – I with List – II and select the correct answer from the code given below the lists :
	 	L ist – I		L  ist – II
		  (Originator)		  (Movement)
	 a.	 Bal Gangadhar Tilak	 I.	 Khilafat Movement
	 b.	S haukat Ali	 II.	 1857 Revolt
	 c.	 Mahatma Gandhi	 III.	S wadeshi Movement (1905 to 1907)
	 d.	 Bahadur Shah	 IV.	 Non-Cooperation Movement
		  Code :
	 	 a	 b	 c	 d
	 (A)	 III	 IV	  II	  I
	 (B)	 II	 I	  III	  IV
	 (C)	 III	 I	 IV	  II
	 (D)	 II	 IV	 III	  I
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	 25.	 MwZmd Am`moJ Ho$ ~mao _| {ZåZ{b{IV _| go H$m¡Z-gm H$WZ gË` h¡ ?

	 (A)	 `h EH$ ñWm`r {ZH$m` h¡ {Ogo {dK{Q>V Zht {H$`m Om gH$Vm &

	 (B)	 BgH$s {Z`wpŠV àYmZ_§Ìr Ûmam H$s OmVr h¡ &

	 (C)	 BgHo$ nmg Cå_rXdmam| H$mo A`mo½` Kmo{fV H$aZo H$m A{YH$ma h¡ &

	 (D)	 `h Ho$db MwZmd Ad{Y Ho$ Xm¡amZ g§Mm{bV hmoVm h¡ &

		  Which of the following statements about the Election Commission is true ?
	 (A)	 It is a permanent body that can not be dissolved.
	 (B)	 It is appointed by the Prime Minister.
	 (C)	 It has the authority to disqualify the candidates.
	 (D)	 It only operates during election period.

	 26.	 g§gXr` emgZ ì`dñWm _|

	 (A)	 H$m`©nm{bH$m, {dYm{`H$m Ho$ à{V CÎmaXm`r h¡	

	 (B)	 {dYm{`H$m, H$m`©nm{bH$m Ho$ à{V CÎmaXm`r h¡

	 (C)	 Ý`m`nm{bH$m, {dYm{`H$m Ho$ à{V CÎmaXm`r h¡	

	 (D)	 H$m ©̀nm{bH$m, Ý`m`nm{bH$m Ho$ à{V CÎmaXm`r h¡

		  In parliamentary form of government
	 (A)	 Executive is responsible to legislature	
	 (B)	 Legislature is responsible to executive
	 (C)	 Judiciary is responsible to legislature	
	 (D)	 Executive is responsible to judiciary

	 27.	 g§gX Ho$ {H$g gXZ Ho$ gXñ`m| go àmŠH$bZ g{_{V J{R>V H$s OmVr h¡ ?
	 a.	 bmoH$ g^m
	 b.	 amÁ` g^m
	 c.	 XmoZm| gXZm| Ho$ gXñ`m| go
	 d.	 amîQ´>n{V Ûmam _ZmoZrV gXñ`m| go

	 	 ZrMo {XE JE {dH$ënm| _| go ghr CÎma Mw{ZE :
	 (A)	 Ho$db a			   (B)	 Ho$db a Am¡a b	
	 (C)	 Ho$db d			   (D)	 Ho$db a, b Am¡a d
		  The Estimates committee is constituted from the members of which House of parliament ?
	 a.	 Lok Sabha
	 b.	 Rajya Sabha
	 c.	 From members of both Houses
	 d.	 From members nominated by the President
		  Choose the correct answer from the options given below :
	 (A)	 only a			   (B)	 only a and b	
	 (C)	 only d			   (D)	 only a, b and d 
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	 28.	 gyMr – I H$mo gyMr – II Ho$ gmW gw_o{bV H$s{OE VWm gy{M`m| Ho$ ZrMo {XE JE Hy$Q> _| go ghr CÎma Mw{ZE :
	 	 gyMr – I		  gyMr – II

	 a.	 ES>_ pñ_W	 I.	 X doëW Am°\$ ZoeÝg

	 b.	 Wm°_g _mëWg	 II.	 X {W`moar Am°\$ BH$moZm{_H$ J«moW

	 c.	 S>ãë`y.E. bo{dg	 III.	 Bånr[a`{bÁ_ EÊS> AZBŠdb S>odbn_|Q>
	 d.	 g_ra A_rZ	 IV.	 Eñgo Am°Z X qà{gnëg Am°\$ nm°ß`wboeZ
	 	 Hy$Q> :
		  a	 b	 c	 d
	 (A)	 II	  III	  IV	  I
	 (B)	 I	  IV	  II	  III
	 (C)	 I	  III	  II	  IV
	 (D)	 I	  IV	 III	  II

		  Match List – I with List – II and select the correct answer from the code given below the lists :
	 	L ist – I		L  ist – II
	 a.	 Adam Smith	 I.	 The Wealth of Nations

	 b.	 Thomas Malthus	 II.	 The theory of Economic Growth

	 c.	 W.A. Lewis	 III.	 Imperialism and unequal development

	 d.	S amir Amin	 IV.	 Essay on the principles of population

		  Code :
		  a	 b	 c	 d
	 (A)	 II	  III	  IV	  I

	 (B)	 I	  IV	  II	  III

	 (C)	 I	  III	  II	  IV

	 (D)	 I	  IV	 III	  II

	 29.	 Ho$ÝÐr` ~OQ> 2025 – 26 _| {H$g amÁ` _| ‘_ImZm ~moS>© ’ H$mo J{R>V H$aZo H$m àñVmd {X`m J`m h¡ ?
	 (A)	 Oå_y Am¡a H$í_ra			   (B)	 {~hma	
	 (C)	 CÎma àXoe			   (D)	AmÝY« àXoe
		  In Union Budget 2025 – 26, ‘Makhana Board’ is proposed to be set up in the state of

	 (A)	 Jammu and Kashmir			   (B)	 Bihar	

	 (C)	 Uttar Pradesh			   (D)	 Andhra Pradesh

	 30.	 Ho$ÝÐr` ~OQ> 2025 – 26 _| H$_mB© H$m g~go ~‹S>m òmoV H$hm± go AmZo H$m AZw_mZ h¡ ?
	 (A)	Am~H$mar H$a			   (B)	 dñVw Ed§ godm H$a
	 (C)	Am` H$a			   (D)	 H$ñQ>åg S>çyQ>r
		  In Union Budget 2025 – 26, the largest source of earning is estimated to come from

	 (A)	 Excise duty			   (B)	 Goods and Services Tax

	 (C)	 Income Tax			   (D)	 Customs duty
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CÚm{ZH$s
Horticulture

	 31.	 ‘_mBH$b ’, ‘V_ma ’ VWm ‘{darS>’ {H$g \$b H$s à_wI H$_ ÐþVerbZ dmbr àOm{V`m± h¢ ?
	 (A)	 go~	 (B)	 ZmenmVr	 (C)	 ßb_	 (D)	AIamoQ>>

		  ‘Michal’, ‘Tamar’ and ‘Vered’ are the prominant low chilling fruit cultivars of

	 (A)	 Apple	 (B)	 Pear	 (C)	 Plum	 (D)	 Walnut

	 32.	 Ho$bo H$s à_wI àOm{V`m± “hmB©JoQ>” Ed§ “H¥$îUm ~OhmB©” H$m {dH$mg ________ VH$ZrH$ go hþAm &
	 (A)	 g§H$aU	 (B)	 M`Z	 (C)	 CËn[adV©Z àOZZ	 (D)	 nwZ:ñWmnZ

		  “Highgate” and “Krishna Vazhai” are the prominent cultivars of banana developed through

	 (A)	 Hybridization	 (B)	S election	 (C)	 Mutation breeding	 (D)	 Introduction

	 33.	 BZ {dQ´>mo eyQ> {Q>n J«mpâQ>¨J àW_ ~ma {H$g \$b _o§ gånm{XV H$s JB© Wr ?
	 (A)	Am_	 (B)	 Zr~y	 (C)	 go~	 (D)	A_ê$X

	 	 In vitro shoot tip grafting was first time done in which fruit ?

	 (A)	 Mango	 (B)	 Citrus	 (C)	 Apple	 (D)	 Guava

	 34.	 ñ\o$JZ_ _mg H$m gm_mÝ`V: pH (nr.EM) _mZ hmoVm h¡
	 (A)	 3.5 go 4.00	 (B)	 1.00 go 2.00	 (C)	 6.00 go 8.00	 (D)	 8.00 go 10.00>

		S  phagnum mass has a pH range of about

	 (A)	 3.5 to 4.00	 (B)	 1.00 to 2.00	 (C)	 6.00 to 8.00	 (D)	 8.00 to 10.00

	 35.	 {ZåZ{b{IV _| go H$m¡Z-gm d¥{Õ AdamoYH$ h¡ ?
	 a.	 ~r – 995	 		
	 b.	 BWrbrZ
	 c.	 H$mBZo{Q>Z
	 d.	 E.E_.Amo>. – 1618

		  ZrMo {X`o J`o {dH$ënm§o _| go ghr CÎma Mw{ZE &
	 (A)	 Ho$db a Am¡a b	 (B)	 Ho$db b Am¡a c	 (C)	 Ho$db b, c Am¡a d	 (D)	 Ho$db b Am¡a d

		  Which of the following is the growth retardent ?
	 a.	 B – 995			 
	 b.	 Ethylene
	 c.	 Kinetin			 
	 d.	 AMO – 1618

		  Choose the correct answer from the option given below :

	 (A)	 a and b only	 (B)	 b and c only	 (C)	 b, c and d only	 (D)	 b and d only
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	 36.	 {ZåZ{b{IV _| go H$m¡Z-gm [aH¡$ëgrQ´>¡ÝQ> ~rO Zht h¡ ?

	 (A)	 H$Q>hb	 (B)	 H$moH$mo	 (C)	 a~a	 (D)	 ß`mO

		  Which of the following is not a recalcitrant seed ?

	 (A)	 Jackfruit	 (B)	 Cocoa	 (C)	 Rubber	 (D)	 Onion

	 37.	 {díd _| ~¡§JZ H$s àW_ F1 g§H$a H$hm± go {d_mo{MV H$s JB© ?

	 (A)	 ^maV	 (B)	 MrZ	 (C)	 VmBdmZ	 (D)	 OmnmZ>

	 	 In the world, the first F1 hybrid of Brinjal was released from

	 (A)	 India	 (B)	 China	 (C)	 Taiwan	 (D)	 Japan

	 38.	 {ZåZ{b{IV _| go H$m¡Z-gm g~go nwamZm ~moS>© h¡ ?

	 (A)	 Zm[a`b ~moS>©	 (B)	 a~a ~moS>©	 (C)	 H$m\$s ~moS>©	 (D)	 Mm` ~moS>©>

		  Which one of the following is the oldest board ?

	 (A)	 Coconut Board	 (B)	 Rubber Board	 (C)	 Coffee Board	 (D)	 Tea Board

	 39.	 Q>_mQ>a ß`yyar _| g§ajH$ ~oÝOmoBH$ Aåb H$s AZw_o` gr_m h¡ 

	 (A)	 250 nr.nr.E_.	 (B)	 350 nr.nr.E_.	 (C)	 600 nr.nr.E_.	 (D)	 750 nr.nr.E_>.

		  Permissible limit of preservative Benzoic Acid in tomato puree is 

	 (A)	 250 ppm	 (B)	 350 ppm	 (C)	 600 ppm	 (D)	 750 ppm

	 40.	 H$Ôÿ dJu` gpãO`m| _| qbJ^oX n[ad{V©V H$aZo Ho$ {bE Cn`wŠV nmXn d¥{Õ {Z`m_H$ h¡

	 (A)	 _¡{bH$ hmBS´>mOmBS>			   (B)	 2, 4 S>mBŠbmoamo{\$ZmŠgr E{g{Q>H$ E{gS>

	 (C)	 BÊS>mob àmo{n`mo{ZH$ E{gS>			   (D)	 BÊS>mob-3-ã`yQ>¡[aH$ E{gS>>

		  Growth regulator effective in modifying the sex expression in cucurbits is 

	 (A)	 Malic hydrazide			   (B)	 2, 4 dichlorophenoxy acetic acid

	 (C)	 Indole propionic acid			   (D)	 Indole 3-butyric acid

	 41.	 {ZåZ{b{IV _| go H$m¡Z-gm EH$ na-nam{JV \y$b Zht h¡ ?

	 (A)	 Šbm{H©$`m	 (B)	 nmoQw>©bmH$m	 (C)	 bmH©$ñna	 (D)	 EbmBg_

	 	 Which of the following is not a cross pollinated flower ?

	 (A)	 Clarkia	 (B)	 Portulaca	 (C)	 Larkspur	 (D)	 Alyssum
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	 42.	 ‘ {Q>´ñQ>oOm’ dmBag ({dfmUw) ~r_mar h¡ 

	 (A)	Amby			   (B)	 Zr~y Hw$b Ho$ \$bmo§ H$s

	 (C)	 nÎmmJmo^r			   (D)	 Ho$bm

		  ‘Tristeza’ virus is a disease of 

	 (A)	 Potato			   (B)	 Citrus Fruit

	 (C)	 Cabbage			   (D)	 Banana

	 43.	 Aê$dr Ho$ H$ÝXmo§ _o§ H$ZH$ZmhQ> H$m H$maU h¡

	 (A)	 H¡$ber`_ H$m~m}ZoQ>			   (B)	 H¡$ber`_ Am°ŠOoboQ>

	 (C)	 H¡$n{g{gZ			   (D)	 gmo{S>`_ ŠbmoamBS>

		  The irritation in colocasia corn is due to the presence of 

	 (A)	 Calcium carbonate			   (B)	 Calcium oxalate

	 (C)	 Capsicin			   (D)	S odium chloride

	 44.	 ‘J«rZ EŠgàog ’ VWm ‘{M\$Q>oZ’ {H$g \$gb H$s CÝZ{Verb àOm{V`m± h¡ ?

	 (A)	Iram	 (B)	 ß`mO	 (C)	 \y$bJmo^r	 (D)	 nÎmmJmo^r

		  ‘Green Express’ and ‘Chieftain’ are the prominent cultivar of 

	 (A)	 Cucumber	 (B)	 Onion	 (C)	 Cauliflower	 (D)	 Cabbage

	 45.	 àmH¥${VH$ ê$n go Amo{g__ H$s H$m¡Z-gr ñnerO H$nya H$m YZr òmoV h¡ ?

	 (A)	Amo{g__ Ho$Z_			   (B)	Amo{g__ ~o{gbH$_	

	 (C)	Amo{g__ {d[aS>r			   (D)	Amo{g__ goÝH$Q>_

		  Which of the following ocimum species is natural rich source of camphor ?

	 (A)	 Ocimum canum			   (B)	 Ocimum basilicum	

	 (C)	 Ocimum viride			   (D)	 Ocimum sanctum

	 46.	 Am±dbm Ho$ nwînmo§ _o§ Za Ed§ _mXm nwînm§o H$m {b§JmZwnmV nm`m J`m h¡

	 	 In aonla flowers sex ratio (male to female) is reported as

	 (A)	 307.9 : 1	 (B)	 500 : 1	 (C)	 10 : 1	 (D)	 01 : 100

	 47.	 EZ E_ nr ~r ñWm{nV hþAm Wm 

		  NMPB was established in

	 (A)	 2000	 (B)	 1999	 (C)	 2010	 (D)	 1998
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	 48.	 ^m¡Jmo{bH$ gyMH$m§H$ Q>¡J Ho$ gÝX^© _o§ JbV {dH$ën H$m M`Z H$s{OE & 

	 (A)	 \o$Zr - Jmodm			   (B)	 ~Xbmnwa Om_wZ - CÎma àXoe

	 (C)	 VoOnwa {_M© - Amgm_			   (D)	Abr~mJ g\o$X ß`mO - _hmamîQ´>

		  With reference to Geographical Indication tag choose the incorrect option.

	 (A)	 Feni – Goa			   (B)	 Badlapur Jamun – Uttar Pradesh

	 (C)	 Tezpur Chilli – Assam			   (D)	 Alibag White Onion – Maharastra

	 49.	 _Ü` E{e`m Am¡a {ZH$Q>nyd© EH$ _oJm OrZ Ho$ÝÐ (CËn{Îm H$m àmW{_H$ Ho$ÝÐ) h¡

	 (A)	 ~¡JZ			   (B)	 ß`mO Am¡a bhgwZ

	 (C)	 gbmX			   (D)	 Q>_mQ>a Ed§ VrIr {_M©

		  Central Asia and near east is a mega gene centre (primary centre of origin) of

	 (A)	 Egg plant			   (B)	 Onion and Garlic

	 (C)	 Lettuce			   (D)	 Tomato and hot pepper

	 50.	 {ZåZ{b{IV _| go H$m¡Z-gr AZwH«$_ AmYm[aV _mH©$a àUmbr h¡ ?

	 (A)	Ama E\$ Eb nr	 (B)	AmB© Eg Eg Ama	 (C)	 Eg gr E Ama	 (D)	 Eg Q>r E_ Eg

		  Which one of the following is sequence based marker system ?

	 (A)	 RFLP	 (B)	 ISSR	 (C)	S CAR	 (D)	S TMS

	 51.	 {O~ao{bH$ E{gS> (GA3) H$m AZwà`moJ A_ê$X Ho$ \$bm| _| nmaWoZmoH$mnu H$mo {H$g gm§ÐVm _| ào[aV H$aVm h¢ ? 

	 (A)	 1000 – 8000 nr.nr.E_.			   (B)	 400 – 800 nr.nr.E_.

	 (C)	 150 – 300 nr.nr.E_.			   (D)	 10 – 100 nr.nr.E_.>

		  Application of gibberellic acid (GA3) induce parthenocarpy in fruits of guava at the concentration of 

	 (A)	 1000 – 8000 ppm			   (B)	 400 – 800 ppm

	 (C)	 150 – 300 ppm			   (D)	 10 – 100 ppm

	 52.	 34.14 à{VeV `moJXmZ Ho$ gmW {ZåZ _o§ go H$m¡Z-gm \$b ^maV go {Z`m©V {H$`m OmVm h¢ ?

	 (A)	AZma	 (B)	 go~	 (C)	A§Jya	 (D)	Am_>

		  Which of the following fruit is exported from India with a share of 34.14 percentage ?

	 (A)	 Pomegranate	 (B)	 Apple	 (C)	 Grape	 (D)	 Mango
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	 53.	 eyÝ` D$Om© erVb H$j H$m`© H$aVm h¢ 

	 (A)	 ~m`b Ho$ {Z`_ na			   (B)	 dmînrH$aU erVbZ {gÕmÝV na 

	 (C)	 {dgaU {gÕmÝV na			   (D)	 Mmëg© Ho$ {Z`_ na

		  Zero energy cool chamber operates on the principles of 

	 (A)	 Boyle’s law			   (B)	 Evaporative Cooling

	 (C)	 Principle of Diffusion			   (D)	 Charles’ law

	 54.	 PtJm Vmoar H$s {ÛqbJr {H$ñ_ h¢

	 (A)	 gVnw{V`m	 (B)	 nygm ZyVZ	 (C)	AH$m© gwOmV	 (D)	 nygm ZgXma>

		  Hermaphrodite variety of ridge gourd is 

	 (A)	S atputia	 (B)	 Pusa Nutan	 (C)	 Arka Sujat	 (D)	 Pusa Nasdar

	 55.	 Zt~y dJ© _o§ ~hþ^«yUVm Ho$ g§X^© _o§ {ZåZ H$WZm| na {dMma H$a| &

	 a.	 ~hþ^«yUr nm¡Yo _mV¥ d¥j Ho$ g_mZ hmoVo h¢

	 b.	 ~hþ^«yUr nm¡Yo EH$ g_mZ d AmoOnyU© hmoVo h¢  

	 c.	 ~hþ^«yUr nm¡Yo {dfmUw amoJ _wº$ hmoVo h¢

	 d.	 ~hþ^«yUr nm¡Yo H$m§Q>oa{hV >hmoVo h¢

		  ZrMo {XE {dH$ënmo§ _o§ go ghr CÎma Mw{ZE &

	 (A)	 Ho$db a, b, c	 (B)	 Ho$db b, c, d	 (C)	 Ho$db a, c, d	 (D)	 Ho$db a, b, d

		  Consider the following statements regarding the polyembryony in citrus.
	 a.	 Polyembryony seedlings are true to type.
	 b.	 Polyembryony seedlings are vigorous and uniform.
	 c.	 Polyembryony seedlings are free from virus disease.
	 d.	 Polyembryony seedlings are thornless.

		  Choose the correct answer from option given below.

	 (A)	 a, b, c only	 (B)	 b, c, d only	 (C)	 a, c, d only	 (D)	 a, b, d only

	 56.	 {g_- _Ywag {H$ñ_ h¢

	 (A)	 OmnmZr nwXrZm H$s	 (B)	 pñn`a nwXrZm H$s	 (C)	 {nna {_ÝQ> H$s	 (D)	 ~aJm_moQ> {_ÝQ H$s>

		  CIM – Madhuras is a variety of 

	 (A)	 Japanese Mint	 (B)	S pear Mint	 (C)	 Pipper Mint	 (D)	 Bergamot Mint

	 57.	 ‘[ag{n©Z’ Xdm {ZH$mbr JB© h¢

	 (A)	 Vwbgr go	 (B)	 K¥VHw±$dmar go	 (C)	 Zr_ go	 (D)	 gn©JÝYm go>

		  ‘Reserpine’ a drug is extracted from

	 (A)	 Tulsi	 (B)	 Aloe	 (C)	 Neam	 (D)	S arpagandha
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	 58.	 ‘BboŠH$s’ Ho$bo H$s EH$ ~rO a{hV àOm{V h¡& `Ú{n `h ________ àH¥${V H$s h¡&

	 (A)	 {Q´>ßbmo`S>	 (B)	 {S>ßbmo`S>	 (C)	 Q>oQ´>mßbmo`S>	 (D)	 hoŠgmßbmo`S>>

		  ‘Elakki’ is a variety of banana which is seedless although it is ________ in nature.

	 (A)	 Triploid	 (B)	 Diploid	 (C)	 Tetraploid	 (D)	 Hexaploid

	 59.	 ñQ´>m~oar Ho$ \$bm| H$m bmb a§J {H$g {nJ_oÝQ> Ho$ H$maU go hmoVm h¢ ?

	 (A)	 nobmaJmoZrS>rZ – 3 – ½byH$mogmBS>	 (B)	 gmBZrS>rZ – 3 – ½byH$mogmBS>

	 (C)	 _mbdrS>rZ – 3 – ½byH$mogmBS>		 (D)	 ~rQ>m {H«$ßQ>moOoÝWrZ>

		  Red colour of strawberry fruit is due to the presence of pigment

	 (A)	 Pelargonidin – 3 – glucoside	 (B)	 Cyanidin – 3 – glucoside

	 (C)	 Malvidin – 3 – glucoside			  (D)	 β – cryptoxanthin 

	 60.	 Am_ _o§ namJU Ho$ {bE à_wI CÎmaXm`r H$sQ> h¡

	 (A)	 Kaoby _ŠIr	 (B)	 _Yw_ŠIr	 (C)	 hÈ>m (doñn)	 (D)	 E{\$S>>

		  In mango, main insect responsible for pollination is

	 (A)	 House fly	 (B)	 Honey bee	 (C)	 Wasp	 (D)	 Aphids

	 61.	 nm¡Yo _o§ {ZH$bZo dmbr nmíd© emIm |̀ g~go _O~yV hmoVr h¢ O~ CZH$m H«$moM E§Jb(H«$moM H$moU) hmoVm h¡

	 (A)	 20° go 30° Ho$ _Ü`			   (B)	 90° go A{YH$

	 (C)	 45° go 90° Ho$ _Ü`			   (D)	 30° go 40° Ho$ _Ü`

		  In plant, arised scaffold branches are strongest, when the crotch angle is

	 (A)	 From 20° to 30°			   (B)	 More than 90°

	 (C)	 From 45° to 90°			   (D)	 From 30° to 40°

	 62.	 nm¡Ymo§ _o§ OrU©Vm H$mo {db§{~V H$aZo Ho$ {bE à`wŠV hmoZo dmbm hm_m}Z h¢

	 (A)	 B©WmBbrZ			   (B)	 gmBQ>moH$mB{ZZ

	 (C)	 Epãg{gH$ Aåb			   (D)	 BÝS>mob-3-E{g{Q>H$ Aåb

		  Anti – aging hormone used in plant is

	 (A)	 Ethylene			   (B)	 Cytokinin

	 (C)	 Abscisic acid			   (D)	 Indole-3-acetic acid
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	 63.	 ŠbmB_¡ŠQ>o[aH$ \$bm| Ho$ g§X^© _o§ {ZåZ{b{IV H$WZm| na {dMma H$s{OE &
	 a.	 ídgZ Ma_ nm`m OmVm h¢ 	
	 b.	 ñQ>mM© H$s _mÌm H$_ hmoVm h¢
	 c.	AZmZmg EH$ ŠbmB_¡ŠQ>o[aH$ \$b h¢
	 d.	 VmoS>Zo Ho$ ~mX nH$ gH$Vo h¢>

		  With reference to climacteric fruits consider the following statements.
	 a.	 Respiration peak is observed
	 b.	 Low starch content
	 c.	 Pineapple is a climacteric fruit
	 d.	 Can ripen after harvesting

	 (A)	 a, b, c	 (B)	  b, c	 (C)	 a, d	 (D)	 b, c, d

	 64.	 ‘AZwn_ ’ EH$ ~m¡Zm B§Q>añQ>mH$ h¢

	 (A)	A§Jya H$m	 (B)	 go~ H$m	 (C)	 Zr§~y H$m	 (D)	Am_ H$m>
	 	 ‘Anupam’ is a dwarfing interstock of
	 (A)	 Grape	 (B)	 Apple	 (C)	 Acid lime	 (D)	 Mango

	 65.	 {ZåZ{b{IV _o§ go H$m¡Z-gm {gånmo{S>`b Am°{H©$S> Zhr h¢ ?

	 (A)	 {gpå~{S>`_	 (B)	 H¡$Q>m{b`m	 (C)	 S>oÝS´>mo{~`_	 (D)	Aa{MÝ‹S>g
		  Which of following is not a sympodial orchid ?
	 (A)	 Cymbidium	 (B)	 Cattleya	 (C)	 Dendrobium	 (D)	 Arachnis

	 66.	 CnmoîU H${Q>~§Yr` Obdm`w _o§ hr CJm`m OmZo dmbm ‘nmo_ \$b’ H$m CXmhaU h¡

	 (A)	 ZmenmVr	 (B)	 bmoH$mQ>	 (C)	 go~	 (D)	 ßb_
		  ‘Pome fruit‘ which is grown only in subtropical climate is
	 (A)	 Pear	 (B)	 Loquat	 (C)	 Apple	 (D)	 Plum

	 67.	 ‘\y$`y’ , ‘Jmoemo’ VWm ‘gwê$Jm’ {H$g \$b H$s à_wI àOm{V`m± h¡ ?

	 (A)	 MoñQ> ZQ	 (B)	 O¡VyZ	 (C)	 nagr_mZ	 (D)	 nrH$Z ZQ>>
		  ‘Fuyu’, ‘Gosho’ and ‘Suruga’ are the prominant cultivar of which fruit ?

	 (A)	 Chest nut	 (B)	 Olive	 (C)	 Persimon	 (D)	 Pecan nut	

	 68.	 ‘n§Om~ Ho$gar ’ Am¡a ‘nygm Jm¡ad’ {H$g gãOr H$s à_wI àOm{V`±m h¢ ?

	 (A)	 Q>_mQ>a	 (B)	Amby	 (C)	 ~¡¢JZ	 (D)	 Va~yO>
		  ‘Punjab Kesari’ and ‘Pusa Gaurav’ are the prominant cultivars of which vegetable ?
	 (A)	 Tomato	 (B)	 Potato	 (C)	 Brinjal	 (D)	 Watermelon
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	 69.	 J¡a XbhZr \$gbm| Ho$ {bE g~go à_wI J¡a ghOrdr ZmBQ́>moOZ {ñWarH$aU H$aZo dmbm gyú_ OrdmUw H$m¡Z-gm h¢ ? 

	 (A)	 EOmoQ>mo~¡ŠQ>a	 (B)	 d¡_	 (C)	 _mBH$moamBOm	 (D)	 ~r. Or. E.
	 	 The most important non symbiotic nitrogen fixing micro-organism in non-leguminous plant is

	 (A)	 Azotobactor	 (B)	 VAM	 (C)	 Mycorrhizae	 (D)	 BGA

	 70.	 H$Q>mB© go nyd© _________ H$m {N>‹S>H$md H$aHo$ ß`mO Ed§ Amby _o§ §̂S>maU Ho$ g__ Ho$ A§Hw$aU H$mo amoH$ gH$Vo h¢ & 

	 (A)	Abma	 (B)	 _¡{bH$ hmBS´>oOmBS>	 (C)	 gmBH$mogrb	 (D)	 2, 4, S>r>
		S  prouting of onion and potato in storage can be inhibited by pre harvest spray of

	 (A)	 Alar	 (B)	 Maleic Hydrazide	 (C)	 Cycocel	 (D)	 2, 4, D

	 71.	 gm_mÝ`V: Am_ _o§ ‘nwîn H$br {d^oXZ’ _______ _o§ hmoVm h¡ &

	 (A)	 OZdar go _mM©			   (B)	Aà¡b go OyZ

	 (C)	 OwbmB© go {gVå~a			   (D)	AŠQy>~a go {Xgå~a>
	 	 Most commonly ‘flower bud differentiation’ in mango occurs during

	 (A)	 January to March			   (B)	 April to June

	 (C)	 July to September			   (D)	 October to December

	 72.	 go~ Ho$ {bE ~m¡Zo _ybd¥ÝV h¢ 
	 a.	 E_-27
	 b.	 E_-2
	 c.	 E_-9
	 d.	 E_-25>
		  ZrMo {X`o J`o {dH$ënmo§ _| go ghr CÎma Mw{Z`o &

	 (A)	 b VWm d	 (B)	 a VWm c	 (C)	 c VWm d	 (D)	 a VWm b
	 	 Dwarfing root stock of apple are
	 a.	 M-27	
	 b.	 M-2
	 c.	 M-9
	 d.	 M-25

		  Choose the correct answer from the options given below.

	 (A)	 b and d	 (B)	 a and c	 (C)	 c and d	 (D)	 a and b

	 73.	 npëg§J EH$ AënH$m{bH$ CnMma h¡ Ohm± \y$bm| H$mo 16 – 20  KÝQ>o Ho$ {bE CnMm[aV {H$`m OmVm h¡
	 (A)	 Z_H$ H$s CÀM gmÝÐVm Ho$ gmW	 (B)	 Z_H$ H$s {ZåZ gmÝÐVm Ho$ gmW
	 (C)	 eH©$am H$s CÀM gmÝÐVm Ho$ gmW	 (D)	 eH©$am H$s {ZåZ gmÝÐVm Ho$ gmW
	 	 Pulshing is a short term treatment where flowers are treated for 16 – 20 hrs. with

	 (A)	 Higher concentration of salt	 (B)	 Low concentration of salt

	 (C)	 Higher concentration of sugar	 (D)	 Low concentration of sugar
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	 74.	 ~¢JZ H$mo ~r. Q>r. ~¢JZ _| n[ad{V©V H$aZo hoVw Cg_| {ZåZ{b{IV _| go H$m¡Z-gm OrZ S>mbm OmVm h¢ ?

	 (A)	 Cry 1 Ac gene	 (B)	 CRY 1 ac gene	 (C)	 CRY 1 AC gene	 (D)	 Cry 1 ac gene

		  Which of the following gene is inserted in brinjal to convert it into BT brinjal ?

	 (A)	 Cry 1 Ac gene	 (B)	 CRY 1 ac gene	 (C)	 CRY 1 AC gene	 (D)	 Cry 1 ac gene

	 75.	 Am_ Ho$ An{eîQ> go ~Zo Cn-CËnmX h¢

	 (A)	 noŠQ>rZ Ed§ EWZmb			   (B)	 {gaH$m Ed§ ñQ>mM©

	 (C)	 noŠQ>rZ, EWZmb, {gaH$m Ed§ ñQ>mM©	 (D)	 CnamoŠV _| go H$moB© Zht

		  By product of mango waste are

	 (A)	 Pectin and ethnol			   (B)	 Vinegar and starch

	 (C)	 Pectin, ethnol, vinegar and starch	 (D)	 None of the above

	 76.	 âboda goda TM Q>_mQ>a H$s EH$ {H$ñ_ h¡ {OgH$s {deofVm h¢ 

	 (A)	 ~ohVa nmofU JwUdÎmm 			   (B)	 nH$Zo _| Xoar

	 (C)	 ObXr nH$Zo dmbr			   (D)	 \$b \$Q>Zo Ho$ amoH$Zo Ho$ à{V

		  Flaver saver TM is a variety of tomato that has a characteristic of 

	 (A)	 Improved nutritional quality	 (B)	 Delayed ripening

	 (C)	 Early ripening			   (D)	 Prevent cracking

	 77.	 AmB© gr E Ama-^maVr` ~mJdmZr AZwg§YmZ g§ñWmZ, ~¢Jbwé Ho$ g§ñWmnH$ {ZXoeH$ H$m¡Z h¢ ?

	 (A)	 S>m°. Or. Eg. a§Ymdm			   (B)	 S>m°. E_. Eg. a§Ymdm

	 (C)	 S>m°. ~r. nr. nmb			   (D)	 S>m°. Ho$. Eb. MT²>‹T>m>

		  Who is the founder director of ICAR – Indian Institute of Horticultural Research, Bengaluru ?

	 (A)	 Dr. G. S. Randhawa			   (B)	 Dr. M. S. Randhawa

	 (C)	 Dr. B. P. Pal			   (D)	 Dr. K. L. Chadha

	 78.	 `{X namJU à{H«$`m n{j`m| Ûmam H$s OmVr h¢, Vmo namJU H$s {d{Y H$hbmVr h¢

	 (A)	 EoZ_mo{\$br	 (B)	 E§Q>mo_mo{\$br	 (C)	Am°{Z©Wmo{\$br	 (D)	 Oy{\$br>

		  If the pollination process is performed by birds, so mode of pollination is referred as 

	 (A)	 Anemophily	 (B)	 Entomophily	 (C)	 Ornithophily	 (D)	 Zoophily

	 79.	 nnrVo H$s gdm©{YH$ nnoZ dmbr àOm{V h¡

	 (A)	 H$mo. – 5	 (B)	 H$mo. – 1	 (C)	 H$mo. – 4	 (D)	 H$mo. – 3>

		  Highest papain variety of papaya is 

	 (A)	 Co – 5	 (B)	 Co – 1	 (C)	 Co – 4	 (D)	 Co – 3
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	 80.	 Am_ H$s ‘Ab\$m§Omo’ Am¡a ‘Ho$ga’ {H$ñ_m| H$s ì`dgm{`H$ ê$n _| ñdrH¥$V loUr h¡
	 a.	 E+ J«oS> (> 300 J«m_)
	 b.	 E J«oS> (250 – 299 J«m_)
	 c.	 ~r J«oS> (200 – 249 J«m_)
	 d.	 gr J«oS> (< 100 J«m_)

		  ZrMo {X`o {dH$ënm| _| go ghr CÎma Mw{ZE 
	 (A)	 Ho$db a Am¡a d			   (B)	 Ho$db b Am¡a c
	 (C)	 Ho$db b, c Am¡a d			   (D)	 Ho$db a, b Am¡a c
	 	 The commercially accepted grade of ‘Alphonso’ and ‘Kesar’ varieties of mango are
	 a.	 A+ grade (> 300 g)
	 b.	 A grade (250 – 299 g)
	 c.	 B grade (200 – 249 g)
	 d.	 C grade (< 100 g)
		  Choose the correct answer from the option given below.
	 (A)	 a and d only			   (B)	 b and c only	
	 (C)	 b, c and d only			   (D)	 a, b and c only

	 81.	 g§doXH$ Omo n¥Ïdr go CËg{O©V `m namd{V©V àmH¥${VH$ {d{H$aU H$mo nhMmZVo h¢
	 (A)	 {ZpîH«$` g§doXH$			   (B)	 B©. E_. Ama.
	 (C)	 g{H«$` g§doXH$			   (D)	 BZ_| go H$moB© Zht>
	 	 Sensors which sense natural radiation either emitted or reflected from earth are called as
	 (A)	 Passive sensors			   (B)	 EMR
	 (C)	 Active sensors			   (D)	 None of these

	 82.	 {ZåZ H$mo EH$ AZwH«$_ _| ì`dpñWV H$s{O`o &
	 a.	 Zr~y	 I.	 à_mbZr
	 b.	 Ho$bm	 II.	 J«¢S> Z¡Z
	 c.	Amdbm	 III.	 bú_r-52
	 d.	 nnrVm	 IV.	AH$m© gy`m©
		  ZrMo {X`o J`o Hy$Q> _| go CÎma Mw{ZE &
		  Hy$Q> :
	 (A)	 I	 II	 IV	 III
	 (B)	 I	 IV	 III	 II
	 (C)	 II	 III	 IV	 I
	 (D)	 I	 III	 II	 IV

		  Arrange the following steps in a sequence.
	 a.	 Lime	 I.	 Pramalni
	 b.	 Banana	 II.	 Grand Nain
	 c.	 Amla	 III.	 Laxmi-52
	 d.	 Papaya	 IV.	 Arka Surya
		  Choose the correct answer from the code given below.
		  Code :
	 (A)	 I	 II	 IV	 III
	 (B)	 I	 IV	 III	 II
	 (C)	 II	 III	 IV	 I
	 (D)	 I	 III	 II	 IV
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	 83.	 {H$g Am¡f{Y` nm¡Yo H$mo bmoH${à` ê$n go “gmoZ_wIr” H$hm OmVm h¡ ?

	 (A)	 Šbmoamo\$mBQ>_ EaZ‹S>rZmo{g`g ~oH$a	 (B)	Amo[a{OZ_ _oOmoamoZm _moEèM (moench)

	 (C)	 {dWo{Z`m {gåZr\o$a Sw>Zmb			   (D)	 H¡${g`m AÝJwpñQ>\$mo{b`m dmëd>
	 	 Which medicinal plant popularly called as “Sonamukhi” ?
	 (A)	 Chlorophytum arundinaceus baker	 (B)	 Origanum majorana moench
	 (C)	 Withania somnifera dunal		 (D)	 Cassia angustifolia valve

	 84.	 ________ Ho$ Vob H$mo bmoH${à` ê$n go “H$mo{MZ Vob” Ho$ Zm_ go OmZm OmVm h¡ &

	 (A)	 {gå~monmoJmoZ âboŠgwAmogg			   (B)	 {gå~monmoJmoZ gmBQ´>oQ>g

	 (C)	 {gå~monmoJmoZ noÝSw>bmog			   (D)	 {gQ´>moZobm ZaoS>g
		  The oil of ________ is popularly known as “Cochin oil”.
	 (A)	 Cymbopogon flexuosus		 	 (B)	 Cymbopogon citratus
	 (C)	 Cymbopogon pendulus			   (D)	 Citronella naradus

	 85.	 \w$bo àmBS> {H$gH$s {H$ñ_ h¡ ?

	 (A)	 ~oa	 (B)	AZma	 (C)	 Ho$bm	 (D)	 Om_wZ
	 	 Phule pride is a variety of 
	 (A)	 Ber	 (B)	 Pomegranate	 (C)	 Banana	 (D)	 Jamun

	 86.	 gyMr – I  H$mo gyMr – II Ho$ gmW gw_o{bV H$a| &
	 	 gyMr – I	 gyMr – II
	 	 amonU \$gbo	 H$sQ>
	 a.	 Zm[a`b	 I.	 pñn§S>b ~J
	 b.	 H$mOy	 II.	 ñHo$b H$sQ>
	 c.	 a~a	 III.	 Mm` _ÀN>a ~J
	 d.	 gwnmar	 IV.	 J¢S>m ~rQ>b
		  ZrMo {XE JE {dH$ënm§o _| go ghr CÎma Mw{ZE &
	 (A)	 a – I	 b – II	 c – III	 d – IV
	 (B)	 a – III	 b – IV	 c – I	 d – II
	 (C)	 a – IV	 b – III	 c – I	 d – II
	 (D)	 a – IV	 b – III	 c – II	 d – I
		  Match List – I with List – II.
	L ist – I	L ist – II
	 Plantation Crops	 Insect
	 a.	 Coconut	 I.	S pindle bug
	 b.	 Cashew nut	 II.	S cale insect
	 c.	 Rubber	 III.	 Tea mosquito bug
	 d.	 Arecanut	 IV.	 Rhinoceros beetle
		  Choose the correct answer from the options given below.
	 (A)	 a – I	 b – II	 c – III	 d – IV
	 (B)	 a – III	 b – IV	 c – I	 d – II
	 (C)	 a – IV	 b – III	 c – I	 d – II
	 (D)	 a – IV	 b – III	 c – II	 d – I
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	 87.	 gyMr – I  H$mo gyMr – II Ho$ gmW gw_o{bV H$a| & 
	 gyMr – I	 gyMr – II
	 	 ({dQ>m{_Z)	 (~r_mar)
	 a.	 {ZH$mo{Q>{ZH$ Aåb	 I.	 ñH$du
	 b.	 Wm`_rZ	 II.	 aVm¡§Yr
	 c.	 EgH$m{~©H$ Aåb	 III.	 nobmJ«m
	 d.	 H¡$amoQ>rZ	 IV.	 ~oar-~oar
		  ZrMo {XE JE {dH$ënmo§ _| go ghr CÎma Mw{ZE &
	 (A)	 a – II	 b – I	 c – IV	 d – III
	 (B)	 a – III	 b – I	 c – II	 d – IV
	 (C)	 a – I	 b – II	 c – IV	 d – III
	 (D)	 a – III	 b – IV	 c – I	 d – II
		  Match List – I with List – II.
	L ist – I	L ist – II
	 (Vitamin)	 (Disease)
	 a.	 Nicotinic acid	 I.	S curvy
	 b.	 Thiamine	 II.	 Night blindness
	 c.	 Ascorbic acid	 III.	 Pellagra
	 d.	 Carotene	 IV.	 Beri-beri
		  Choose the correct answer from the options given below.
	 (A)	 a – II	 b – I	 c – IV	 d – III
	 (B)	 a – III	 b – I	 c – II	 d – IV
	 (C)	 a – I	 b – II	 c – IV	 d – III
	 (D)	 a – III	 b – IV	 c – I	 d – II

	 88.	 gyMr – I  H$mo gyMr – II Ho$ gmW gw_o{bV H$a| &
	 gyMr – I	 gyMr – II
	 (Jwbm~ H$m àH$ma)	 (amonU Xÿar)
	 a.	 hmB{~«S>-Q>r	 I.	 75 go§_r.
	 b.	 bVm Jwbm~	 II.	 100 g§o_r.
	 c.	 _mZH$ Jwbm~	 III.	 45 go§_r.
	 d.	 nmo{bEÝWg	 IV.	 250 go§_r.
		  ZrMo {XE JE {dH$ënmo§ _| go ghr CÎma Mw{ZE & 
	 (A)	 a – I	 b – III	 c – II	 d – IV
	 (B)	 a – I	 b – IV	 c – II	 d – III
	 (C)	 a – I	 b – II	 c – III	 d – IV
	 (D)	 a – IV	 b – III	 c – II	 d – I
		  Match List – I with List – II.
	L ist – I	L ist – II
		  (Rose type)	 (Planting distance)
	 a.	 Hybrid – T	 I.	 75 cm.
	 b.	 Climbing rose	 II.	 100 cm.
	 c.	S tandard rose	 III.	 45 cm.
	 d.	 Polyanthas	 IV.	 250 cm.
		  Choose the correct answer from the options given below.
	 (A)	 a – I	 b – III	 c – II	 d – IV
	 (B)	 a – I	 b – IV	 c – II	 d – III
	 (C)	 a – I	 b – II	 c – III	 d – IV
	 (D)	 a – IV	 b – III	 c – II	 d – I



M	 -20-	 90

	 89.	 Ho$bm H$m CËn{Îm ñWb {ZåZ _| go H$h±m na hþAm ?

	 (A)	 _¡{S>Q>ao{Z`Z joÌ			   (B)	 X{jU-nyd© E{e`m joÌ

	 (C)	 CnmoîU H${Q>~ÝYr` joÌ			   (D)	 _Ü` A_o[aH$m joÌ>

		  Banana fruit crop is believed to have originated in the following region

	 (A)	 Mediterranean region			   (B)	S outh-East Asia region

	 (C)	S ub tropical region			   (D)	 Central American region

	 90.	 Ig H$m Vob (CÎma ^maVr` àH$ma) {ZåZ{b{IV _| go {H$g a§J H$m hmoZm Mm{hE ?

	 (A)	 ^yam	 (B)	 ham gm nrbm	 (C)	 bmb ham	 (D)	 nrbm

		  Vetiver oil (North Indian type) should have following colour

	 (A)	 Brown	 (B)	 Greenish yellow	 (C)	 Reddish green	 (D)	 Yellow

	 91.	 {ZåZ{b{IV g_yh _o§ go H$m¡Z-gm gË` \$b Zht h¡ ?

	 (A)	A_ê$X, Am_, AmSy>			   (B)	AmSy>, Amby~wImam, Iy~mZr

	 (C)	 go~, ZmenmVr, bmoH$mQ>, H$mOygo~	 (D)	AIamoQ>, nrH$ZZQ>>, ~mXm_

		  Which of the following group is not true fruit ?

	 (A)	 Guava, Mango, Peach			   (B)	 Peach, Plum, Apricot

	 (C)	 Apple, Pear, Loquat, Cashew Apple	 (D)	 Walnut, Pican nut, Almond

	 92.	 ZmenmVr Ho$ _ybd¥ÝV H$m à`moJ H$s OmZo dmbr àOm{V ‘_ohb’ H$m dmZñn{VH$ Zm_ h¡

	 (A)	 nmBag nm{e`m			   (B)	 nmBag nmBar\$mo{b`m

	 (C)	 nmBag goamo{Q>Zm			   (D)	 nmBag> H$_w{Zg

		  ‘Mahal’ used as root stalk of pear is botanically called

	 (A)	 Pyrus pashia			   (B)	 Pyrus pyrifolia

	 (C)	 Pyrus serotina			   (D)	 Pyrus communis

	 93.	 d¥{Õ Ed§ JwUdÎmm `wŠV \y$bmo§ Ho$ {b`o CÎma ^maV _o§ Jwbm~ Ho$ N>§Q>mB© H$m C{MV g_` hmoVm h¡

	 (A)	AŠQy>~a H$m Xÿgam AWdm Vrgam gßVmh 	 (B)	 Zdå~a H$m àW_ Ed§ Xÿgam gßVmh

	 (C)	 5 _mM© go 25 _mM©			   (D)	 1 OwbmB© go 20 OwbmB©

	 	 Suitable time of Rose pruning in North India for growth and quality flower

	 (A)	S econd or third week of October	 (B)	 First or second week of November

	 (C)	 5 March to 25 March			   (D)	 1st July to 20 July
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	 94.	 Am_ Ho$ Xehar ~mJ Ho$ {bE gdm}Îm_ namJU {H$ {H$ñ_ h¡ 

	 (A)	 ~å~B© ham	 (B)	 Xehar	 (C)	 bJ‹S>m	 (D)	 Mm¡gm

		  The best pollinizer variety for Dashahari orchard of mango is

	 (A)	 Bombay Green	 (B)	 Dashahari	 (C)	 Langra	 (D)	 Chausa

	 95.	 {nQy>{Z`m _| {H$g bjU H$mo ê$nmÝV[aV H$aZo Ho$ {bE S>mB©hmBS´>moâbo~moZb - 4 [aS>ŠQ>oO OrZ (S>r E\$ Ama) H$m 
Cn`moJ {H$`m OmVm h¡ ? 

	 (A)	 nm¡Yo H$m AmH$ma hoVw			   (B)	 \y$b H$s ~ZmdQ> hoVw

	 (C)	 \y$b Ho$ a§J hoVw			   (D)	 \y$bm| H$s gwJÝY hoVw

	 	 Dihydroflavonol – 4 reductase gene (dfr) is used to modify for which trait in Pitunia ?

	 (A)	 Plant size			   (B)	 Flower architecture

	 (C)	 Flower colour			   (D)	 Flower fragrance

	 96.	 nnrVo Ho$ db` Yã~m {dfmUw H$m g§MaU gm_mÝ`V hmoVm h¡ 

	 (A)	 g\o$X _ŠIr	 (B)	 O¡{gS>	 (C)	 eb^	 (D)	 _m±hÿ

		  Papaya ring spot virus is commonly transmitted by

	 (A)	 Whiteflies	 (B)	 Jassids	 (C)	 Moths	 (D)	 Aphids

	 97.	 Am_ Ho$ gm{IV _§Oar _| {H$gH$m nwîn hmoVm h¡ ? 

	 (A)	 Za Ed§ C^`qbJr			   (B)	 Ho$db _mXm

	 (C)	 Za Ed§ VQ>ñW			   (D)	 Za Ed§ _mXm

	 	 Type of flowers present in mango panicles

	 (A)	 Male and Hermaphrodite		  (B)	 Only female

	 (C)	 Male and neutral			   (D)	 Male and female

	 98.	 ~m`moEñWo{Q>H$ ßbmqZJ eãX H$m {Z_m©U {H$`m J`m Wm  

	 (A)	 E_. Eg. aÝYmdm			   (B)	 bmÝgobmQ> hmJdoZ

	 (C)	 E_. Eg. \$Jo[a`m			   (D)	 Ho$. dr. nrQ>a

		  The term bio-aesthetic planning was coined by

	 (A)	 M. S. Randhawa			   (B)	 Lancelot Hogben

	 (C)	 M. S. Fageria			   (D)	 K. V. Peter
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	 99.	 {ZåZ H$mo EH$ AZwH«$_ _o§ ì`dpñWV H$s{OE & 
		  amoJ à{VamoYH$ j_Vm H$m _yë`m§H$Z {ZåZ{b{IV VarH$mo§ go {H$`m OmVm h¡
	 I.	 amoJ H$s KQ>Zm
	 II.	 amoJ H$s J§^raVm
	 III.	 g§H«$_U H$s g\$bVm H$m AmH$ma
	 IV.	 g§H«$_U H$s g§»`m
		  ZrMo {X ò J ò Hy$Q> _o§ go CÎma Mw{ZE &
		  Hy$Q> :
	 (A)	 I,	 II,	 IV,	 III
	 (B)	 I,	 IV,	 III,	 II
	 (C)	 II,	 III,	 IV,	 I
	 (D)	 I,	 III,	 II,	 IV
		  Arrange the following steps in a sequence.
		  The assessment of disease resistance is done by following ways.
	 I.	 Disease incidence.
	 II.	 Disease severity.
	 III.	S ize of successful infection.
	 IV.	 Number of successful infection.
		  Choose the correct answer from the code given below.
		  Code :
	 (A)	 I,	 II,	 IV,	 III
	 (B)	 I,	 IV,	 III,	 II
	 (C)	 II,	 III,	 IV,	 I
	 (D)	 I,	 III,	 II,	 IV

	100.	 gyMr – I H$mo gyMr – II Ho$ gmW gw_o{bV H$ao§ &
		  gyMr – I	 gyMr – II
	 a.	 Hw$\$ar ~mXemh	 I.	 Hw$\$ar Á`mo{V × Hw$\$ar Ab§H$ma
	 b.	 Hw$\$ar Xodm	 II.	 Hw$\$ar bmb  × Hw$\$ar Hw$§XZ
	 c.	 Hw$\$ar bm{b_m	 III.	 H$[a§J {S>{\$`mÝgo × \w$bdm
	 d.	 Hw$\$ar {gÝXÿar	 IV.	 Hw$\$ar bmb × AG-14
		  ZrMo {X ò J ò {dH$ënmo§ _| go ghr CÎma Mw{Z ò &		
	 (A)	 a – I,	 b – III,	 c – IV, 	 d – II
	 (B)	 a – III,	 b – IV,	 c – I, 	 d – II
	 (C)	 a – II,	 b – I,	 c – III, 	 d – IV
	 (D)	 a – IV,	 b – III,	 c – II, 	 d – I
	 	 Match List – I with List – II.
			L   ist – I	L ist – II
	 a.	 Kufri Badshah	 I.	 Kufri Jyoti × Kufri Alankar
	 b.	 Kufri Deva	 II.	 Kufri Red × Kufri Kundan
	 c.	 Kufri Lalima	 III.	 Caring Defiance × Phulwa
	 d.	 Kufri Sindhuri	 IV.	 Kufri Red × AG-14
		  Choose the correct answer from the options given below.		
	 (A)	 a – I,	 b – III,	 c – IV, 	 d – II
	 (B)	 a – III,	 b – IV,	 c – I, 	 d – II
	 (C)	 a – II,	 b – I,	 c – III, 	 d – IV
	 (D)	 a – IV,	 b – III,	 c – II, 	 d – I
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